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Binary Multivariable Logistic Regression Predicting the Likelihood of Working Mothers Describing Employment as the Biggest Challenge during the First Nine Months of their Infants’ Lives (N = 1918)
	Variables
	B (SE)
	OR (CI-CI)
	p value

	Constant
	-3.74(0.48)
	
	<.001

	Maternal characteristics
	
	
	

	__Maternal involvement
	0.002(0.19)
	.99(0.69-1.45)
	.990

	Child characteristics
	
	
	

	__Subsequent born 
	.293(.13)
	1.34(1.04-1.72)
	.022

	   Age when mother returned to work
	
	
	<.001

	   __< 3 months
	REF
	
	

	   __3-5 months (inclusive)
	-0.24(0.17)
	0.79(0.57-1.09)
	.150

	   __6 months +
	-0.7(0.17)
	0.50(0.35-0.70)
	<.001

	   No health/developmental problems __ __
	0.81(0.26)
	2.26(1.36-3.73)
	.020

	
	
	
	

	   Negative affect
	
	
	.080

	   __1st quartile
	REF
	
	

	   __2nd quartile
	0.08(0.17)
	1.08(0.77-1.51)
	.660

	   __3rd quartile
	-0.14(0.18)
	0.87(0.61-1.22)
	.420

	   __4th quartile
	-0.36(0.18)
	0.7(0.49-1.00)
	.052

	Social support/stressors
	
	
	

	__Partner involvement (some or more)
	0.24(0.16)
	1.27(0.94-1.73)
	.124

	__Lack of family stress
	
	
	.176

	       1st quartile
	REF
	
	

	   __2nd quartile
	0.18(0.16)
	1.2(0.87-1.65)
	.274

	   __3rd quartile
	-0.18(0.18)
	0.84(0.59-1.19)
	.320

	   __4th quartile
	-0.11(0.17)
	0.89(0.63-1.26)
	.516

	Environmental support/stressors
	
	
	

	__Household income
	
	
	.023

	   __< $50,000/year
	
	
	Ref

	   __$50,000–$69,999/year
	0.46(0.21)
	1.58(1.05-2.38)
	.029

	   __$70,000–$99,999/year
	0.40(0.20)
	1.49(1.01-2.21)
	.047

	   __$100,000–$149,999/year
	0.63(0.21)
	1.88(1.24-2.84)
	.003

	   __$150,000+/year
	0.71(0.25)
	2.03(1.25-3.30)
	.004

	Work characteristics
	
	
	

	__Number of hours worked
	
	
	<.001

	   __<10 hours/week
	
	
	Ref

	   __10-19 hours/week
	0.48(0.29)
	1.61(0.91-2.86)
	.100

	   __20-29 hours/week
	1.08(0.29)
	2.94(1.68-5.15)
	<.001

	   __30-39 hours/week
	1.45(0.27)
	4.25(2.52-7.16)
	<.001

	   __40 + hours/week
	1.62(0.29)
	5.04(2.84-8.95)
	<.001

	__Reasons for returning to work:
	
	
	

	____Total parental leave ended
	0.13(0.15)
	1.14(0.85-1.53)
	.380

	____Needed money
	0.26(0.15)
	1.3(0.96-1.76)
	.090

	____Fear of jeopardising career
	0.4(0.16)
	1.49(1.09-2.04)
	.010

	____Wanted to get out of the house 
	-0.62(0.21)
	0.54(0.36-0.82)
	<.001

	____Missed company at work 
	-0.4(0.22)
	0.67(0.44-1.03)
	.070*


Note. -2 log likelihood = 1692.90, R2 = .094 (Cox & Snell), .15 (Nagelkerke), χ 2(25) = 188.33, p < .001. Statistically significant predictors at the .05 alpha level are printed in boldface. B= unstandardised regression coefficient, SE= Standard Error, OR= Odds Ratio, CI= Confidence Interval, REF= reference category. *This variable is significant (β-.61, SE= .20, OR= .53, p = .002) when entered in the model as the only reason for returning to work.


